F19[E] 7 B ALY =T BRI FHERSE R

8H31H (1) 9H1H(H) : 9H2H (H)
1 F—R"—50"S(&EE) 5x
o Bk Il T % E £ (FHEB) 7x ’—1
- 0
3 Routes(W—Y) (B E)—1
4 A—=N—tIv¥)VA (LK) 3x 9
10
5 +HREBbE(BHEE) 1
2x
6 2 ¥ U v Y(ERBRBR)— 1
0
7 ®H KWK 7 9 7 (KKHK) 7
6lE& T 3
8 XK Bk 7 7 T(KXKKMF) 4x
3
9 M K v = 7(|ﬁﬂﬂ4ﬁ)$
2
10 MILIFINAY =T ( & B &) 4x
2
1 EREREEY =T (% B R )$ 0
12 M W ¥y = 7(@ilE)—1
6L T 11
130K B 7 7 7 (EBR) 9 6
14 BEMEE IS T (EER) 0 s
15 MEOBR—AX (KK K) 0 SNTTITT
- <%H&E>%6EW 4
16 WU — (B RE 0
17 B x55257 (& & BR). 3
18 F R B A B B (EER)— 1 6l 1 7x
8[al e 6
19 # b % R £ (MWL E) 1
B 3
20 F — ANORIO (/A B B ) ——G
6L T 4
21 B B vt v X(BER)—0
6lE& T 10
22 NI ~vRAZ— X5 (%HHER)—0
3x
23 MUY =T 757 (B[R R ) —m—|
0
24 ] O C (R L IR ) —
0
25 EBR—RR—NIFT (fE G B )—1
PAEIEi e 5
26 Bk 5079 7 (RER)—/—0
3
27T BIWAE — X257 (Jh B B ) e—m— 0
28 HELY=72757 (B E) 4




